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CARON WITHOUT SYMMETRY KNIT SHAWL   

SHOP KIT

MEASUREMENTS
Approx 55" [139.5 cm] wide x 34½" 
[87.5 cm] deep. 

GAUGE
22 sts and 40 rows = 4" [10 cm] in 
garter stitch.

INSTRUCTIONS
Note: Move marker as you work 
following alt rows.
First Wedge: Cast on 224 sts.
1st and 2nd rows: Knit, noting 1st 
row is WS. 
**3rd row: Knit to last 8 sts. PM. 
Turn. Leave rem sts unworked. 
4th row:  (RS).  Sl1P. Knit to 
end of row. 
5th row: K1. *yo. K2tog. Rep from 
* to last 23 sts before marker. K15. 
PM. Turn. Leave rem sts unworked. 

6th row: As 4th row. 
7th row: K2. *yo. K2tog. Rep from 
* to last 24 sts before marker. K16. 
PM. Turn. Leave rem sts unworked. 

Rep last 4th to 7th rows, working 
8 sts less on every following alt 
row, until there are 24 sts rem.
Next row: (RS). As 4th row.
Next row: Knit to last 8 sts before 
marker. PM. Turn. Leave rem 
sts unworked.
Rep last 2 rows once more. 
8 sts rem.
Next row: (RS). Sl1P. K7.
Next row: K224. Remove markers.
Next row:  Sl1P. Knit to end 
of row. **

KNIT  I  SKILL LEVEL: EASY

LIGHT

3
ABBREVIATIONS

Alt = Alternate(ing)
Approx = 
Approximately
K = Knit
K2tog = Knit next 
2 stitches together

PM = Place marker
Rem = Remaining
Rep = Repeat
RS = Right side
Sl1P = Slip next stitch 
purlwise

St(s) = Stitch(es)
WS = Wrong side
Yo = Yarn over

MATERIALS

Caron® Skinny Cakes™ (8.8 oz/250 g; 795 yds/727 m) 
Rainbow (18036) 2 balls

Size U.S. 6 (4 mm) circular knitting needle 29" [73.5 cm] long or size 
needed to obtain gauge. Stitch marker.
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Second Wedge: ***1st row:
(WS). Cast o�  20 sts. Knit to end of 
row. 204 sts.
2nd row: Cast on 10 sts. Knit to 
end of row. 214 sts.
3rd row: Knit.
4th row: As 2nd row. 224 sts.
Rep from ** to ** as given for 
First Wedge.***

Rep from *** to *** until there are 
7 Wedges total. 
Cast o� .   


